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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to one sentence.
(ii)  Answers to questions carrying 3 marks may be from 50-75 words.

(iii)  Answers to questions carrying 4-5 marks may be about 150 words.

(iv)  Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.

66/1/1 1




T e
(i) 137 aret 791 & 3 U@ 915 & U e 7% &l |
(ii) 3 37l aret 7o & 3 50-75 V5T F & |
(iii) 4-5 377 aret 71 & I AT 150 V1T F & |
(iv) 6 311 aret Jo=1 & IR 4T 200 91531 & &1 |
(v) TFFeT & T4 917 Q-1 & &7 Ferw |

1.  Why is “Management called a group activity” ?

“TE Y U Tfew TSRar” T el ST € 2

2. “Management increases efficiency.” How ?

U FT FCAT § Jieg BT 7 Y 2

3. Why are Principles of Management called flexible ?

ey & Tl ot SArequt SRT T S § 2

4. What does the principle of ‘Initiative’ indicate ?

JeeTeTHaT & fag ST Gha sar g ?

5. State first two steps in the process of planning.

TS wlshan & werd <t e ol Sared |

[

Give one difference between Policy and Procedure.

=TF 79T HEEY § UF 3 gargd |

7. What is meant by directing ?

¥ FT I ATIG A € ?

e
[ )



8.  Why it is said that “The supervisor is a link between management and the operative
employees.” ?

IE 1 BT AT ¢ [ TdaeTs W U Sacg e HHANE! o 7e Ueh el & T 8ldr g ?

9.  What is meant by “Right to be heard’ to a consumer ?

“GAATE T AFR’ HT T STHEHRT o AT o7 31 & ?

10. What is the purpose of enacting the Consumer Protection Act 1986 ?

IO TETOT ATTTH 1986 =t T LA 1 T LT & 7

11.  “Controlling is looking back.” Explain.
“Frgeor i ST € 1 g |

12.  Explain the objective of Financial Planning.

foreitg FaisT & 32941 1 9019 HITST |

13. State the objective of Financial Management.

To=iT we=y & 3299 M g FIT |

14.  Define Capital Market. State the two parts of capital market.

T AR 5 afef FRTT | TS SR S A SeeE FIT |

—
n

What is meant by ‘direct channels of distribution’ ? List any four methods of c:r=
distribution.

ToaRoT & weget St 1 9 o7 ¥ 7 fqeRur-nrey it R = vy fafut wrEs =
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Aman, Avneesh and Amrish have decided to start a business of manufacturing toys.
They identified the following main activities which they have to perform :

(@)
(ii)
(iii)
(iv)
v)
(vi)
(vii)

Purchase of raw materials

Purchase of machinery

Production of toys

Arrangement of finance

Sale of toys

Identifying the areas where they can sell their toys
Selection of employees.

In order to facilitate the work they thought that four managers should be appointed to
look after (a) Production (b) Finance (c) Marketing (d) Personnel.

(A)
(B)

©

Identify the function of management involved in the above mentioned para.

Quote the lines from the above para which help you in identifying this
function.

State the steps followed in the process of this function of management.

ST, ST TUT ST A RFei= I3 1 Fadg R T 1 (ota o | 3= Frefefea
g forarstt st TeeT ST S TR AT o

6]
(ii)
(iif)
(iv)
(v)
(vi)
(vii)
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17.

18.

19.

20.

21

22,

‘Some learning opportunities are designed and delivered to improve skills and
abilities of employees whereas some other are designed to help in the growth of
individuals in all respects.

Identify and explain the two concepts explained above.

e & F9 AR FI 3 UFR feume aur g o s & i st & wver 9
ATt # GUR & T STah $O 379 Hl 76 TR feqre o st & {6 =fam & qoresdor
forspTe # W faat |

YRR ATOT 3T STTUROMST S TgdT FX 37T G0 T |

“All managers are leaders but all leaders are not managers.” In the light of this
statement differentiate between leadership and management.

“gull YT AT Bl €, AT W AT YSE Tel g |7 39 wUH % G ° Way aer
Agehed § F=T9E BT |

Explain how controlling helps in ‘achieving better co-ordination’ and ‘better
planning’ ?

=01 f5F0 YR SEa 9T WA &R | |97 9ea] AT 9 9o el &, Iy |

Explain any four functions of Consumer Organisations and Non-Government
Organisations (NGO’s) for protecting and promoting the interest of consumers.

| SUNIRT HSHAT T T TR TS FRT SUHISRT & feal st AT @ a4l S SIaeie

T o fe7q fop <7 aret feel wIR =t st i ST |

“Coordination is the orderly arrangement of group efforts to provide unity of action
in the pursuit of common purpose.” In the light of this statement explain the nature of
coordination.

“SHTe i TeheT I ST % Tt Wrafesh vrarst st fafid sraen & e Fed € 1”7 39 o
% g | HHS i TH(d T |

Explain ‘Differential Piece Rate’ and ‘Functional Foremanship’ as techniques of
scientific management.

ST Ta W qFATH o ® Y fasigTeTs wiRefis g a9 Sraeas FrRaaeT =
HHEART |
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23.

24.

23,

26.

Explain any five limitations of planning.

e =t fopeet oe Sret &1 9ui FifAT |

Why was Securities and Exchange Board of India (SEBI) set up ? Explain any four
objectives of SEBL

nﬂﬁuuﬁ%q&?&ﬁmﬁé(@ﬁ)aﬁﬂmﬁaﬁmmm?ﬁ%ﬁmﬁm@ﬁw
U HIAT |

‘Bending the customer according to the Product’ and ‘Developing the product
according to customer-needs’ are the two important concepts of marketing
management.

Identify the concepts and differentiate between the two.

“UTEH il 3T & STHR ST TAT “UEH Sl STATIHASH 5 ST 30915 [Thiaa T
foqur wamey it <t FETeUl STEURUNE € | 37 STURONST 1 Te a1 ¢ 31 5 374S HIY |

What is meant by ‘Functional Structure’ of an organisation 7 Explain anyv two
advantages and two limitations of it.
OR

Explain the elements of delegation of authority.

T e & “HATeas e’ 1 57 319 € 7 30 (sl 31 ol oot S Wrenail &7 guiq i |
rerar
TR =0T & Tl 1 F0TH HITAT |

‘Staffing is an important function of management in all organisations’. Why ?
Explain any four reasons.

OR

What is meant by Recruitment ? Explain any four external sources of recruitment.

= T § R e w1 O e 7 | F6 2 R AR FRl @ o

arerar
= = == 39 F? 941 & [l 9K T il $ =S B |



28.

29.

211

“Directing is the heart of management process.” Do you agree ? Give four reasons in
support of your answer.

OR

“Effectiveness of a manager depends on his ability to communicate effectively.”
Explain how ?

“FISY W UTSHAT 1 839 € 17 4T 37 HeHd € 7 319 SR % HUT H FIT IR HROT
T |

Feran
“Teh WS ! TITET 3T WIT0T FEINOT Y AGar I (R Al € 1 GHTET Y ?

Explain any four factors affecting working capital requirement of a company.
OR

“Determination of capital structure of a company is influenced by a number of
factors.” Explain any four such factors.

TS FAT I A YT H SEAVIHAT I WATT FA A FE G- G Bl AR
FIT |

e
U AT & TS @ o Frgior fafet geet @ wifad B & 1 0 R 9R wewt @

What are the characteristics of a good brand name ? Explain.
OR

Explain the following sales promotion activities :

(i) Discount

(ii) Product combination

(iii)) Financing

(iv) Lucky draw

T GURTad ATt 19 it 7 faerard et € 2 gy |
AT

Tasra daya =t f=fataa frarstt &1 o= wifse :

0 =

(i) Scarg FEEY

(iii) To<iE=

(iv) rarEeTE T



